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LEVEL- 1

Question
based on

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Area bounded by a curve

The area between the curves y = 6 — x — x? and
X-axis is -
(A) 125/6
(C) 25/6

(B) 125/2
(D) 25/2

The area between the curve y = e and x-axis
which lies between x = -1 and x =1 is-

(A)er-1 (B) (e2-1)/e

(C) (1—-e)le (D) (e —1)/e?

The area bounded by the curve y = sin 2x,
X- axis and the ordinate x = n/4 is-

(A)r/4  B)rn/l2 (C)1 (D) 1/2

The area between the curve xy = a? Xx-axis,
x=aand x = 2a is-
(A)alog 2
(C)2alog 2

(B) a2 log 2
(D) none of these

Area under the curve y = sin 2x + cos 2x between
x=0andx=£, is-
4

(A) 2 sg. units
(C) 35g. units

(B) 1 sq. units
(D) 4 sg. units

The area bounded by the curve y = 4x% x = 0,
y =1andy =4 in the first quadrant is-

2 1 1 1
A2z B33 (©23 (D)3E

The area between the curve y = sec x and
y-axiswhen 1 <y <2 is-

(A) 2—;409 2+43)
(B) 2—;+ log (2 +3 )

© E-Liog@+43)
3 2
(D) None of these

The area bounded by the lines y = x, y = 0 and
X=2is-
(A)1
(€) 4

(B) 2
(D) None of these

The area bounded by the curve y = 1 + 8/x?,
x-axis, x =2 and x = 4 is-

(A)2 B)3 (C)4 (D)5

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

log x and

The area between the curve y =
= aand x = b

x-axis which lies between x
@>1,b>1)is-

(A) b log (b/e) —alog (ale)

(B) blog (b/e) +alog (ale)

(C) log ab

(D) log (b/a)

Area bounded by the curve y = xe*’ , X- axis and

the ordinates x =0, X = o is-
2

2
e* +1 . e* -1
sg. units (B
5 (B) 5

© e +1 sg. units (D) e®’ —1 sg.units

(A)

sg.units

The area bounded between the curve y = 2x2 + 5,
x-axis and ordinates x =—2 and x = 1 is-
(A) 21 (B)29/5 (C)23 (D) 24

Area bounded by curve xy = c, x-axis between
x=1landx =4, is-

(A) c log 3 sg. units

(B) 2 log ¢ sg. units

(C) 2c log 2 sq. units

(D) 2c log 5 sg. units

The area bounded by the curve y = X sin X2
x-axis and x = 0 and X =\/§ is-

(A)12  (B)UY2 C)U4  (D)n/2

The area bounded between the

X _ Y4120 x=-2 x=3and x-axis is-

4 2
(A) 45/4

curve

(B)45/2 (C)15 (D) 25/2

The area bounded by curves y = tan x, x-axis and

x =l is

3
(A) 2log 2 (B) log 2
(C) log (%) (D)o

The area between the curve x? = 4ay, x-axis, and
ordinate x = d is-
(A) d¥12a

(C) d¥2a

(B) d¥a
(D) d¥/6a
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Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Area bounded by the curve y = x (x — 1)?
0 <x <1 and x-axis is-
(A) 4

(C) 112

(B) 1/3
(D) 1/2

The area bounded by the curve y = log, X,
x-axis and ordinate x = e is-

(A) log, 2 (B) 1/2 unit

(C) 1 unit (D) e unit

The area bounded by the curve y =———,
COS“ X
coordinates axes and x = n/4 is-

(A1 (B)2

(C) /4 (D)

The area between the curve y2 = 4x, y-axis, and
y=-landy=3is-
(A) 7/3 (B) 9/4

(C)U12 (D) 1/4

The area bounded by the curve y = sin 2x,
y-axis and the abscissa y = 1 is-

(A1 (B) 1/4

(C) n/d (D) (r/4) — (1/2)

The area between the curve x = 2y — y2 and
y-axis is-

(A) 9/4 (B) 4/3

©)9 (D) None of these

The area bounded by the curve x2 = 8y,
x-axis and the ordinate x = -2, x = 4 is-
(A) 4 (B)2 ©1 (D)3

The area bounded by the curve y2 = X, straight
liney = 4, and y-axis is-
(A) 16/3 (B) 64/3

<7 V2 (D) None of these

The area between the curve y = sin3 x, x-axis, and
the ordinates x =0 to x = n/2 is-

(A) 1 (B)1/3 (C)2/3  (D)3R2

The value of a for which the area of the
region bounded by the curve y = sin 2x, the
straight lines X = n/6, x = a and x-axis is equal to
1/2 is-
(A) /2

(B)n/3 (C)4/3  (D)n/6

The area of a loop bounded by the curve
y = asin x and x-axis is-

(A) a (B)2a2 (C)0 (D) 2a

Q.29

Q.30

Q.31

The area between the curves x = 2 — y — y2 and
y-axis is-
(A)9 (B) 9/2

€)% (D)3

The area bounded by y = 4x — x? and the x-axis is-
(A)30/7 (B)31/7 (C)32/3 (D)34/3

The area contained between the x-axis and one
arc of the curve y = cos 3x is-

(A3 (B)2/3 (C)27  (D)2/5

Question .
Symmetric area

Q.32

Q.33

Q.34

Q.35

Q.36

The area bounded by the curves y = 4x? and
y=4is-
(A) 7/3

(B)14/3 (C)5/3 (D) 16/3

The area bounded between the curve |y = 1 — x?
is-

(A) 2/3
(C)8/3

(B) 4/3
(D) None of these

The area bounded by the parabola y?2 = 4ax,
x-axis and x = 2a and latus rectum is-

(A) 222 (V2 -1) (B) 4a2 (242 1)
(©) % 2(2J2-1) (D) % (22 -1)

The whole area bounded by the curves x = a cos t,
y=bsintis-

(A) z ab ®) @ ab

© (%) ab (D) None of these

The whole area of the curve 9x2+16y2=144 is-
(A) 24n (B) 144n

(C) b (D) 12

Positive and negative area
ased on

Q.37

Q.38

The area between the curve y = tan x and
x-axis, when — /4 < x < n/4 is-
(A) log 2 (B) log 4

(C) log/2

(D) none of these

The area bounded by the curve y = x3, the x-axis
and the ordinates x =—2and x = 1 is-

(A)-9 (B) 17/4

(C)-15/4 (D) 15/4
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Q.39

Question
based on

Q.40

Q.41

Q.42

Q.43

Q.44

Q.45

Q.46

Q.47

Q.48

The area between the curve y = cos x and
X- axis when 7/2 < x < 2xt will be-

(A1 (B) 2

©3 (D)4

Area between two curves

The area between the curves y? = 4x and y = 2x
is-

(A) 1/4 unit
(C) 1/2 unit

(B) 1/3 unit
(D) 2/3 unit

The area bounded by the curves y = ex, y = e*and
the line x =1 is-
(Ae+e?
Ce—-et+1

B)ye+el-1
(D)e+et-2

The area bounded by the curve y = (x — 1)
(x —2) and coordinate axes is-
(A) 1/6 (B) 5/6
(C) 13 (D) 2/3

The area bounded by the lines y = 2 + x and
y = 2 —x and x-axis is-
(A)3
(€8

(B) 4
(D) 16

The area bounded by the curves y = sin X,
y = cos X and x-axis from x = 0 to X = /2 is-

(A) 2 ++/2 (B) V2

(€)2 (D) 2-2

The area bounded between parabola x? = 4y and

y = [x| is-
(A) 2/3 (B) 4/3
(C) 8/3 (D) 16/3

The area bounded by the curves y = x2 and
y = [x| is-
(A) 2/3
©1

(B) 1/6
(D) 1/3

The common area of the curves y =/x and

X =4V is-
(A)3 (B) 5/3
(C) 1/3 (D) None of these

Area of the region bounded by the curves y = e,
y = e X and the straight liney = 2 is-

(A) log (4/e) (B) 2 log (4/e)

(C) 4 log (4/e) (D) None of these

Q.49

Q.50

Q.51

Q.52

Q.53

Q.54

Q.55

Q.56

Q.57

The area bounded by y = tan x, y = cot x, x-axis
in0o<x< = is-
2

(A) log 2
(C)2log 2

(B)3log 2
(D) 4log 2

The area bounded by the curve y = 2x — x2 and
straight liney = — x is-
(A) 35/6
(C) 43/6

(B) 9/2
(D) none of these

X2 y2
The area between the curve —- +b—2 =1 and the
a

straight line X+ Y = 1 is-
a b

1

1 1
A) —mab— —ab B) —ab
()4n 5 ()4

© %nab (D) none of these

The area of the figure bounded by the parabola
y = x2 + 1 and the straight line x + y = 3 is-

(A) 3/2 (B) 5/2

(C) 72 (D) 9/2

Common area between the parabolas y = 2x2 and
y=x2+4is-

(A) 16/3 (B) 8/3

(C) 32/3 (D) None of these

If A is the area between the curve y = sin x and x-
axis in the interval [0, /2], then the area between
y = sin 2x and x-axis in this interval will be-

(A) A (B) 2A

(C) A2 (D) None of these

Find the area enclosed by the lines y = x/2,
y=2xand X =4 is-
(A)1 (B) 2

(C)12  (D)16

The area of region bounded by y = |[x — 2] |, the
x-axisand the linex=-1&x=2is -

(A) 6 sq. unit (B) 8 sq. unit

(C) 4 sq. unit (D) None of these

Area bounded by the curve y = f(X), y = x and the

lines x =1, x = tis (t + V1+t2 — v/2 —1) sq.
units for all t > 1. If f(x) satisfying f (x) > x for all
x > 1, then f (x) is equal to -

A)x+1+ 2 B) X +——
Wxrir e O e
C)1+—2 D) =%
© V1+x2 ®) Vi1+x?
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LEVEL- 2

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q7

Q.8

The area bounded by the curve

y=(X-1) (x-2) (x — 3), x-axis and ordinates
x=0,x=3is-
(A) 9/4
(C)11/2

(B) 11/4
(D) None of these

Area bounded by the curves y = 2%, y = 2x — X2,
x=0andx=2is-

3 4 3 4

A) —— — B) — +—
A log2 3 ®) log2 3
4 4
(C)3Iogz+§ (D)3I092—§

Area bounded by the curves y = [x — 1|, y = 0 and
IX| = 2 is-
(A)5
(C)9r2

(B) 4
(D) None of these

The area of the region bounded by y? = x and
X = 36 is divided in the ratio 1 : 7 by the line
X = g, then a equals-
(A)7 (B)8

©9 (D)0

The area bounded by the curve y = 1 — |x| and
X-axis is-
(A)1 (B) 172

(C) 2 (D) 1/3

The area bounded between the curve x>+ y?> = 9
and linesy=3/2,y=3and x =0 is-

(A) %(8n+3\/§) (B) %(87573\/5)

(C)%(4n73\/§) (D)§(4n73\/§)

The area bounded by the curve y = f(X), x-axis
and the ordinates x =1 & x =his (b — 1) sin(3b + 4),
then f(x) equals-

(A) (x—1) cos (3x + 4)

(B) sin (3x + 4)

(C)sin (3x+4) + 3 (x—1) cos (3x + 4)

(D) None of these

The area bounded by the parabola x2 = 4y, the
x-axis and the line x = 4 is divided into two equal
area by the line x = a, then the value of a. is-

(A) 21/3 (B) 22/3 (C) 24/3 (D) 25/3

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

The area of the closed figure bounded by
y=cosX,y=1+ (2/n) xand X = w/2 is-

(A) 3n/4 (B) n/2
3n—-4 n—4
C D) —
©) 2 (D) 2
The area enclosed between the curves

y = log, (x +€), x = log, (E] and the x-axis is
y

(A)1 B2 (©3 (D)4
Area of the circle (x — 2)2 + (y — 3)2 = 32 which
lies below the liney = x + 1 is-

(A) T [(x+1)+,/32—(x—2)2 +3} dx
-2

(B) T H,/az—(x—z)2 +3}(x+1)} dx
-2

(C) 16n
(D) None of these

Let f(x) = max. {sin x, cos X, 1/2}. Then area of
the region bounded by y = f(x), x-axis and
X =0, X =2m, is:

(A) Br+12+/3)/12  (B) (51 + 12+/2 )12

(C) (bn + 36)/12 (D) None of these

The area of the region {(x, y) : x> <y < |x|} is-
(A) 173 (B)12 (C)1/4 (D) None

Area bounded by the curve y? (2a —x) = x® and the
linex=2ais:
(A) 3na?

(C) 3na/4

(B) 3na?/2
(D) None of these

The area of region bounded by the curve

—x%x<
y = 2-X *X—l, x- axis and the ordinates
2x-1,x>1

x=-landx=2is

(A)8/3 (B)32/3 (C)4/3  (D)none

AREA UNDER THE CURVE



LEVEL- 3

Q.1 The area bounded by the curve y = x |x|, x axis
and the ordinates x = 1, x = — 1 is given by-

(A)0 ® 5

© % (D) none of these.

Q.2 Area lying in the first quadrant and bounded by
the circle x2 + y2 = 4, the line x =+/3y and

X-axis is-
(A) = (B) n/2
(C) n/3 (D) none of these.

Q.3 If area bounded by the curve y2 = 4 ax and
y = mx is a2/3, then the value of m is-
(A) 2 (B)-2
(C) 12 (D) none of these

Q4 Area bounded by the curve y = x sin x and
x-axis between x =0 and x = 2z is
(A)2 (B) 3n
(C) 4rn (D) none of these.

Q.5 The area of the region bounded by y = [x — 1| and

y=1is-
(A)1 (B)2
(C) 12 (D) none of these.

Q.6 The area of the figure bounded by the curves
y=|x-1landy=3-|x| is-

(A)2 B3 (©)4 D)1

Statement type Questions

Each of the questions given below consists of
Statement-1 (Assertion) and Statement-I1 (Reason). Use
the following key to choose the appropriate answer.

(A) If both Statement-l, Statement-1l are true, and
Statement-1l is the correct explanation of
Statement-1.

(B) If both Statement-1 and Statement-Il are true but
Statement-Il is not the correct explanation of
Statement-1

(C) If Statement-1 is true but Statement-11 is false

(D) If Statement-1 is false but Statement-11 is true.

Q.7 Statement-1: Area common to the curve

y=+x andx=,fy is1/3sq. units

b
Statement-11: Area = J(g(x) —f(x)) dx.
a

%

y =9(x)

2,

Xx=Db

y =1(x)

Q.8 Statement-I: Let the area bounded by the curve
y = f(x), x-axis from x = 1tox =a,a> 1 be
3a2 — 4a + 1 sg. units then f(x) = 6x — 4.
Statement-11:

F(a) = Area= ‘Tf (x)dx = f(a) =F'(a)
1

Q.9 Statement-I: The area bounded by the curves

y=sin1x,y=cosxand x-axis is v2 — 1.

Statement-I1:
12 Lo
J.sin’lx dx + I (——sinlx)dx= J2-1
2
0 12

Passage Based Questions

Consider the parabola y = x2 + 1 and the line
X+y=3

YA

0, 1)

A

The line cuts the parabola at A and B. Let the
abscissa of A and B be o and B.

AREA UNDER THE CURVE
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Q.10

Q.11

Q.12

Q.13

The values of o + B and oy must be respectively Q.14
(A) land 2 (B)2and 1
(C)-1land-2 (D) None of these.
The area bounded between the parabola and the Q.15
line in terms of o and  must be
2
(A) lo.— Bl (a+B) —af +oc+[3_2
3 2

2 2
(B) o — B ﬂﬂ%ﬁ_z Q.16
(C) lo—Bl12— (o +B) (a2 + p?) |
(D) None of these.

Q.17
The area bounded between the parabola and the
line must be
(A) 2 sg. units
(B) %sq. units
(C) 9/2 sq. units
(D) None of these
Area of the region bounded by the curve y = x?,
y = |2 —x?| and y = 2, which lies to the right of the
line x = 1, is equal to
(A) (20 + 122 )/\/3
(B) (20 + 122 )/3
(C) (20 -12+2 )/ 3
(D) (20 -12+/2)/3
LEVEL- 4

Area bounded by the curves x = —4 y?> and
X=1-5yis:
(A)3/4  (B)43 (C)4 (D)3

Area bounded by the curves y = x -1, y-axis, and
y = [(x2 + 128)/64], x e (0, 8) above the
x-axis, [.] = G.I.F., is equal to

(A) 2 (B)4 (C)8 (D) None

Let f(x) = min {x + 1,vV1-x}. Then area
bounded by y = f(x) and x- axis is
(A)1U6 (B)5/6 (C)7/6 (D) 1/6

Area bounded by the curve xy? = a? (a — x) and

y-axis is (- a>0)
(A) ma%/2 (B) na?
(C) 3na? (D) 3na?/2

AREA UNDER THE CURVE



(Question asked in previous AIEEE and IIT-JEE)

Q.1

Q.2

Q.3

Q.4

Q5

Q.6

SECTION -A

If the area bounded by the x-axis, curve
y = f(x) and the lines x = 1, x = b is equal to

Vb2 +1— /2 for all b > 1, then f(x) is-
[AIEEE-2002]

(A) J(x-1) (B) J(x+1)
(C) Y2 +1) D) =
V1+x2

The area of the region bounded by the curves
y=|x-1andy=3—|x|is- [AIEEE-2003]
(A) 6 sg. units (B) 2 sg. units
(C) 3 sg. units (D) 4 sqg. units

The area of the region bounded by the curves
y =X -2|,x=1, x=3and the x- axis is-
[AIEEE-2004]
(A)1 B2 (©3 (D) 4
Area of the greatest rectangle that can be
2 2

inscribed in the ellipse x_2 + y_2 =1is-
a b
[AIEEE-2005]
(A) 2ab (B) ab
(C) Vab ©) ¢

The area enclosed between the curve
y = log, (x + €) and the coordinate axes is-

[AIEEE-2005]

(A1 ®2 (©)3 (D) 4

The parabolas y2 = 4x and x2 = 4y divide the
square region bounded by the lines x =4,y =4
and the coordinate axes. If S, S, S, are
respectively the areas of these parts numbered
from top to bottom; then S, : S, : S, is-
[AIEEE-2005]
B)1:2:3
(D)1:1:1

(A)l:2:1
(©2:1:2

Q.7

Q38

Q.9

Q.10

Q.11

Q.12

Let f(x) be a non-negative continuous function
such that the area bounded by the curve y = f(x),

x-axis and the ordinates x =% and x = >% is

(Bsin[}+%cosﬁ+\/§|3] . Then f (%) is-
[AIEEE-2005]

(B) ( —\/§+1)

n
4

A) (%+\/§—1J
©) (1—%—\5) (D) (1—%\/5}

The area enclosed between the curves y2 = x and

y =[x is [AIEEE-2007]
2

A) 3 (B)1
1 1

(©) 5 (D) 3

The area of the plane region bounded by the
curves X + 2y?2 =0 and x + 3y? = 1 is equal to-
[AIEEE-2008]

1 2
(A) 3 (B) 3
4 5
©) 3 (D) 3

The area of the region bounded by the parabola
(y — 2)= x — 1, the tangent to the parabola at the
point (2, 3) and the x - axisis-  [AIEEE-2009]
(A)3 (B) 6

©9 (D) 12

The area bounded by the curves y = cos x and

y = sin X between the ordinates x =0 and x = 3?”

is - [AIEEE-2010]
(A) 42 -2 (B) 442 +2
() 4J/2-1 (D) 4v2+1

The area of the region enclosed by the curves
y =X, X =¢,y=1/xand the positive x-axis is :

AREA UNDER THE CURVE | 5 |



Q.13

Q.14

Q.15

Q.1

Q.2

Q.3

Q.4

[AIEEE-2011]
(B) 1 square units
(D) 5/2 square units

(A) 1/2 square units
(C) 3/2 square units

The area bounded by the curves y? = 4x and

X2 =4y is— [AIEEE-2011]
32 16

(A) 3 (B) 3
8

© 3 (D)o

The area bounded between the parabolas x? = %

and x? = 9y, and the straight liney = 2 is:
[AIEEE-2012]

(A) _1035 ©) —Zof
(C) 1072 (D) 202

The area (in square units) bounded by the curves
y= \/; 2y — x + 3 =0, x-axis, and lying in the
first quadrant is - [JEE Main - 2013]

(A) 18 (B) % ©9 (D) 36
SECTION-B

The area of the region bounded by y = |x —1| and

y=1is [T -1993]

(A)1 (B) 2

(C) 12 (D) None of these

The slope of the tangent to the curve y = f(x) at a

point (x, y) is 2x + 1 and the curve passes through

(1, 2). The area of the region bounded by the

curve, the x- axis and the line x = 1 is-
[117T-1995]

(B) 5/6 units

(D) 6 units

(A) 5/3 units
(C) 6/5 units

The area bounded by the curves y = x| — 1 and

y=—x+1is- [T Scr.2002]
(A1 (B) 2
(C)2+2 (D) 4

Area of the region bounded by y = Jx,
X =2y + 3 & x-axis lying in 1% quadrant is-

Q5

Q.6

Q.7

Q.8

Q.9

[T Scr.2003]

(A) 243
(©)9

(B) 18
(D) 34/3

If area bounded by the curves x = ay? and

y = ax2is 1, then a equals- [11T Scr.2004]

1 1

A) —= B) =

()\/§ ® 3
1

© 3 D)3

Find the area between the curves y = (x — 1)?,

y=(x+1)Pandy= % [11T Scr.2005]

1 2
A) 3 (B) 3

4 1
©) 3 (D) ry

Area of the region bounded by the curve y = ex
andlinesx=0andy=eis- [1IT-2009]

(Ae-1 (B) jzn(e+1—y)dy
1

1 e
©) e—J.eX dx (D) Ifny dy
0 1

Let the straight line x = b divide the area enclosed
byy=(1-x?%y=0, and x = 0 into two
parts R1(0 < x <b) and Rz(b < x < 1) such that

Ri—R2= % Then b equals [NT-2011]

@ ®; ©; OF

The area enclosed by the curves y = sin X + cos x

and y = | cos X — sin X | over the interval [O, g}

is - [JEE - Advance 2013]
(A) 4(2-1) (B) 2v2(v2-1)(C)
2(J2 +1) (D) 2J2(\2 +1)

AREA UNDER THE CURVE | 9 |



ANSWER KEY
LEVEL- 1

Q.No. 9 [10 [ 11 (12 [13 (14 [15 |16 |17 (18 | 19 | 20
Ans.f A | B D|B|B]|]C]A B|C|A|BJA|JC]J]A]JA]|B]J]A]J]C]|]C]A
QNof 21 [ 22 | 23 [ 24 | 25 |26 | 27 | 28 | 29 |30 | 31 |32 |33 |34 |35 |36 (37383940
Ans.f A| D | B DB | C B DB | C B[D|]C[C|A|D|J]A|BJ|JC]|B
Q.No| 41 [ 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 [ 51 | 52 [ 53 | 54 [ 55 | 56 [ 57
Ans.] D | B B D|D|D]C B|A|B|J]A|D|J]C|J]A]JC]A]A
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LEVEL- 2

Q.No. 1 2 3 6 7 8 10 ) 11 ] 12 | 13 | 14 | 15
Ans. B A A C A D C D C B C D A A D

o
ol
©

LEVEL-3

Q.No] 1 2 3 4 5 6 7 8 9 10 | 11 | 12 { 13 ] 14 | 15| 16 | 17
Ans.f C C A C A C AlA]A C A C D B B C B

LEVEL-4

SECTION-A

Q.No. 67| 8 10 11| 12| 13|14 15
Ans. | D| DJ]A|JA]|JA|D|D|]JC]J]C|J]C|]A]C]|B]|B]C

[EEN
N
w
N
(8]
(o)

SECTION-B
4y 3 L2\
x =1 So, Area=j:x2+x dx = (X_er_} :E_
1.[A] 3 2) 6
L 1 yA
| x| -1
|1 T2 X 3.[8] I
1 1 > X
Area= = .2.1=1 1 >
2 4
dy =Xx2+ X +¢C
28] =2x+1= TG a1
It passes through (1, 2) Area of square = (\/E )2 =2

AREA UNDER THE CURVE



4.1C]

5.[A]

6.[A]

4

va y = ax
» X
Area:j i—<’:1x2dx:1:>a:i
a J3
X + 1) X —1)?
y“( ) (x-1)
1
/% y=1/4
> X

Area = 2. f11/4(\/§ +) = %

8.[B]

9.[B]

yvA
1
0] 1 X
b
Ri-R;= %

job(x ~1)2dx —j:(x _1)2dx = %

(- T (x-p*) _1
3 ), 3 4

b

3 3
b= 1 (-1 1
3 3 3 4
2 -1 -1
Zb-1)= = = (b-1P3= —
:3( ) B = (b-1) 5

:>b71:_—l :>bzl
2 2

/2

Area =
0

/2 /4

I((sin X 4+ €0sX)—| cosx —sin x |) dx

= _[(sinx +C0sX) dx — I(cosx —sinx) dx —
0 0

/2
I(sin X — C0sX) dx
/4

= [~ cos x + sin x ]2

cos x —sin x]%/3

=(1+1)- (V2-1)-(-1++2)

—[sin x + cos x|

=2-J2 +1+1-2
7.[C] Ay e* =4- 22
= 242 (2 -1)
"
/1
0 1 >x
Area = I:1—exdx = jflogydy
= jflog(1+e—y)dy
AREA UNDER THE CURVE



